LESSON ONE

PRACTICAL EXERCISE
The following items will test your understanding of the material covered in this lesson.  There is only one correct answer for each item.  When you have completed the exercise, check your answers with the answer key that follows.  If you answer any item incorrectly, review that part of the lesson which contains the portion involved.

1.
The point at which the beat occurs is called the

A.
divided beat.

B.
ictus.

C.
rebound.

D.
None of the above are correct.

2.
Impulse of will is the conductor's way of verbally expressing his intentions to the ensemble.

A.
True
B.  False

3.
Which type of gesture requires a musical response from the ensemble?

A.
Preparatory gesture

B.
Legato gesture

C.
Active gesture

D.
Both A and B are correct

4.
If the meter establishes beat groupings of three, the metrical stress is

A.
duple.

B.
triple.

C.
quadruple.

D.
single.

5.
If the unit of beat is regularly divisible by two, the meter is

A.
simple.

B.
compound.

C.
Either A or B is correct

D.
Neither A nor B is correct.

6.
If a beat in compound meter is divided into three parts, it is called a subdivided beat.

A
 True
B.  False

7.
The conducting window sets the
of the beat pattern.

A.
style

B.
size

C.
meter

D.
metrical stress

8.
Which statement about the baton grip is NOT correct.

A.
You should grip the baton in a manner that feels natu​ral to you.

B.
In general, your palm should face the floor.

C.
Grip the baton in either hand.

D.
The performing group must see the baton clearly.

9.
To help you develop a more natural feel and reduce the fatigue on your arm, you should

A.
switch the baton to your other hand.

B.
keep your arm relaxed.

C.
keep your wrist flexible.

D.
Both B and C are correct.

10.
The baton you select should be composed of a

material and should be

 inches in length.

A.
balsa wood; 13 to 15

B.
plastic; 10 to 12

C.
lightweight; 12 to 14

D.
fiberglass; 11 to 13

11.
When you rehearse ceremonial music, stand

A.
at ease.

B.
at parade rest.

C.
with your feet slightly apart.

D.
at attention.

12.
A longer baton is often used on the parade field.

A.
True
B.  False

13.
When you are conducting, an informal stance allows you to

A.
move more freely.

B.
better express yourself musically.

C.
Both A and B are correct.

D.
Neither A nor B is correct.

14.
A large conducting window is appropriate for which of the following?

A.
Loud dynamics

B.
Soft dynamics

C.
Quick tempi

D.
None of the above are correct

15.
Compound music occurs when the 

A.
metrical stress is duple.

B.
metrical stress is triple.

C.
unit of beat is divisible by two.

D.
unit of beat is divisible by three.

16.
It is acceptable to grip the baton and conduct with either hand, depending on which one has greater dexterity

A.
True
B.  False

17.
When a conductor is using a formal stance, his left hand must be at his side

A.
True
B.  False

18.
What is the part of the conducting pattern that occurs between each beat point?

A.
Ictus

B.
Rebound

C.
Both A and B are correct

D.
Neither A nor B is correct

19.
The subdivided beat in 12/8 is a/an               note.

A.
eighth

B.
dotted-quarter

C.
dotted-eighth

D.
sixteenth

20.
A legato gesture is a passive gesture when performed at a slow tempo

A.
True
B.  False

LESSON ONE

PRACTICAL EXERCISE

ANSWER KEY AND FEEDBACK

Item               Correct Answer and Feedback
1.
B.
ictus

(Part A, paragraph 1b)

2.
B.
False

(Part A, paragraph 1a)

3.
D.
Both B and C are correct

(Part A, paragraph 1d)

4.
B.
triple

(Part A, paragraph 1g)

5.
A.
simple

(Part A, paragraph 1h)

6.
B.
False.

(Part A, paragraph 1i)

7.
B.
size.

(Part A, paragraph 1k)

8.
C.
Grip the baton in either hand

(Part B, paragraphs 3a and note)

9.
D.
Both B and C are correct

(Part B, paragraphs 3, 3c note,and 3d)

10.
C.
Lightweight; 12 to 14

(Part B, paragraph 4)

11.
D.
at attention

(Part B, paragraph 5a)

12.
A.
True

(Part B, paragraph 4 Note)

13.
C.
Both A and B are correct.

(Part B, paragraph 5b)

14.
A.
Loud dynamics

(Part B paragraph 6a)

15.
D.
unit of the beat is divisible by three

(Part A paragraph 1h)

16.
B.
False

(Part B paragraph 3a and note)

17.
B.
False

(Part B, paragraph 5a Note

18.
B.
Rebound

(Part A, paragraphs 1b and c)

19.
D.
Sixteenth

(Part A, paragraph 1j)

20.
B.
False

(Part A, paragraph 1d, 1e)





